
20
25

Ja
nu

ar
y

 



January 2025

RODRUNNER REF NO: TR-AC-131 ADAPTABLE ACURA

Tie Rod End

Weight: 0,77

RL

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

KB1/KB2 2005-2012 Front Right MS60626, 53540SJA014,
53540SJA004

Length: 203 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

RODRUNNER REF NO: TR-AC-132 ADAPTABLE ACURA

Tie Rod End

Weight: 0,77

RL

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

KB1/KB2 2005-2012 Front Left MS60625, 53560SJA004

Length: 203 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

www.rodrunnerparts.com 1



January 2025

RODRUNNER REF NO: BC-BM-BS239 ADAPTABLE BMW

Control Arm Bushing

Weight: 1,1152

Z4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G29 2019- Front Lower 31106888154, 31106888153

Length: 55

G29

TC-B-218
Control Arm

and Ball Joint
Front Right

Lower
31106888154

TC-B-219
Control Arm

and Ball Joint
Front Left

Lower
31106888153

RODRUNNER REF NO: BC-BU-BS001 ADAPTABLE BUICK

Lateral Arm Bushing

Weight: 0,376

RAINIER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2004-2007 Rear Lower RK660157, 15069840, 8150698400

Length: 58

TC-BU-298 Lateral Arm Rear Lower
RK660157, 15069840,

8150698400

www.rodrunnerparts.com 2



January 2025

RODRUNNER REF NO: BC-BU-BS001 ADAPTABLE CHEVROLET

Lateral Arm Bushing

Weight: 0,376

SSR

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2003-2006 Rear Lower RK660157, 15069840, 8150698400

Length: 58

TC-BU-298 Lateral Arm Rear Lower
RK660157, 15069840,

8150698400

RODRUNNER REF NO: BC-BU-BS001 ADAPTABLE CHEVROLET

Lateral Arm Bushing

Weight: 0,376

TRAILBLAZER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

KC 2002-2009 Rear Lower RK660157, 15069840, 8150698400

Length: 58

TC-BU-298 Lateral Arm Rear Lower
RK660157, 15069840,

8150698400

www.rodrunnerparts.com 3



January 2025

RODRUNNER REF NO: BC-BU-BS001 ADAPTABLE GMC

Lateral Arm Bushing

Weight: 0,376

ENVOY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2002-2009 Rear Lower RK660157, 15069840, 8150698400

Length: 58

TC-BU-298 Lateral Arm Rear Lower
RK660157, 15069840,

8150698400

RODRUNNER REF NO: BC-BU-BS001 ADAPTABLE OLDSMOBILE

Lateral Arm Bushing

Weight: 0,376

BRAVADA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2002-2004 Rear Lower RK660157, 15069840, 8150698400

Length: 58

TC-BU-298 Lateral Arm Rear Lower
RK660157, 15069840,

8150698400

www.rodrunnerparts.com 4



January 2025

RODRUNNER REF NO: BC-BU-BS001 ADAPTABLE SAAB

Lateral Arm Bushing

Weight: 0,376

9_7X

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2005-2009 Rear Lower RK660157, 15069840, 8150698400

Length: 58

TC-BU-298 Lateral Arm Rear Lower
RK660157, 15069840,

8150698400

RODRUNNER REF NO: TC-CH-1288 ADAPTABLE CHEVROLET

Lateral Arm

Weight: 0,828

BLAZER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2018- Rear 84606181

Length: 299

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-B-165

BC-CH-BS154
Lateral Arm

Bushing
Rear 84606181*

4WD / FWD

www.rodrunnerparts.com 5

Rear Upper
Lateral Arm 
  Bushing 33322409891*,33322409891*



January 2025

RODRUNNER REF NO: TC-CH-1288 ADAPTABLE CHEVROLET

Lateral Arm

Weight: 0,828

TRAVERSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Rear 84606181

Length: 299

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-B-165

BC-CH-BS154
Lateral Arm

Bushing
Rear 84606181*

4WD / FWD

RODRUNNER REF NO: TC-CH-1288 ADAPTABLE CADILLAC

Lateral Arm

Weight: 0,828

XT5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2017- Rear 84606181

Length: 299

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-B-165

BC-CH-BS154
Lateral Arm

Bushing
Rear 84606181*

4WD / FWD

www.rodrunnerparts.com 6

Lateral Arm 
   Bushing Rear Upper 33322409891*,33322409891*

33322409891*,33322409891*Rear UpperLateral Arm 
   Bushing



January 2025

RODRUNNER REF NO: TC-CH-1288 ADAPTABLE CADILLAC

Lateral Arm

Weight: 0,828

XT6

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2020- Rear 84606181

Length: 299

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-B-165

BC-CH-BS154
Lateral Arm

Bushing
Rear 84606181*

4WD / FWD

RODRUNNER REF NO: TC-CH-1288 ADAPTABLE BUICK

Lateral Arm

Weight: 0,828

ENCLAVE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Rear 84606181

Length: 299

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-B-165

BC-CH-BS154
Lateral Arm

Bushing
Rear 84606181*

4WD / FWD

www.rodrunnerparts.com 7

Rear Upper 33322409891*,33322409891*

33322409891*,33322409891*Rear UpperLateral Arm 
   Bushing

Lateral Arm 
   Bushing



January 2025

RODRUNNER REF NO: TC-CH-1288 ADAPTABLE GMC

Lateral Arm

Weight: 0,828

ACADIA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2017- Rear 84606181

Length: 299

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-B-165

BC-CH-BS154
Lateral Arm

Bushing
Rear 84606181*

4WD / FWD

RODRUNNER REF NO: BC-CH-BS152 ADAPTABLE CHEVROLET

Control Arm Bushing

Weight: 0,912

TRAVERSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Front Lower
Outer

84263008*, 85117101*, 84263009*

Length: 127

TC-CH-1328
Control Arm

and Ball Joint
Front Right

Lower
84263008

TC-CH-1329
Control Arm

and Ball Joint
Front Left

Lower
84263009, 85117101

www.rodrunnerparts.com 8

33322409891*,33322409891*Lateral Arm 
   Bushing Rear Upper



January 2025

RODRUNNER REF NO: BC-CH-BS152 ADAPTABLE BUICK

Control Arm Bushing

Weight: 0,912

ENCLAVE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Front Lower
Outer

84263008*, 85117101*, 84263009*

Length: 127

TC-CH-1328
Control Arm

and Ball Joint
Front Right

Lower
84263008

TC-CH-1329
Control Arm

and Ball Joint
Front Left

Lower
84263009, 85117101

RODRUNNER REF NO: BC-CH-BS153 ADAPTABLE CHEVROLET

Control Arm Bushing

Weight: 0,863

TRAVERSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Front Lower
Inner

84263008*, 85117101*, 84263009*

Length: 120

TC-CH-1328
Control Arm

and Ball Joint
Front Right

Lower
84263008

TC-CH-1329
Control Arm

and Ball Joint
Front Left

Lower
84263009, 85117101

www.rodrunnerparts.com 9



January 2025

RODRUNNER REF NO: BC-CH-BS153 ADAPTABLE BUICK

Control Arm Bushing

Weight: 0,863

ENCLAVE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Front Lower
Inner

84263008*, 85117101*, 84263009*

Length: 120

TC-CH-1328
Control Arm

and Ball Joint
Front Right

Lower
84263008

TC-CH-1329
Control Arm

and Ball Joint
Front Left

Lower
84263009, 85117101

RODRUNNER REF NO: BC-CH-BS154 ADAPTABLE CHEVROLET

Lateral Arm Bushing

Weight: 0,12

BLAZER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2018- Rear 84606181*

Length: 49,5

4WD / FWD

TC-CH-1288 Lateral Arm Rear 84606181

www.rodrunnerparts.com 10



January 2025

RODRUNNER REF NO: BC-CH-BS154 ADAPTABLE CHEVROLET

Lateral Arm Bushing

Weight: 0,12

TRAVERSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Rear 84606181*

Length: 49,5

4WD / FWD

TC-CH-1288 Lateral Arm Rear 84606181

RODRUNNER REF NO: BC-CH-BS154 ADAPTABLE CADILLAC

Lateral Arm Bushing

Weight: 0,12

XT5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2017- Rear 84606181*

Length: 49,5

4WD / FWD

TC-CH-1288 Lateral Arm Rear 84606181

www.rodrunnerparts.com 11



January 2025

RODRUNNER REF NO: BC-CH-BS154 ADAPTABLE CADILLAC

Lateral Arm Bushing

Weight: 0,12

XT6

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2020- Rear 84606181*

Length: 49,5

4WD / FWD

TC-CH-1288 Lateral Arm Rear 84606181

RODRUNNER REF NO: BC-CH-BS154 ADAPTABLE BUICK

Lateral Arm Bushing

Weight: 0,12

ENCLAVE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Rear 84606181*

Length: 49,5

4WD / FWD

TC-CH-1288 Lateral Arm Rear 84606181

www.rodrunnerparts.com 12



January 2025

RODRUNNER REF NO: BC-CH-BS154 ADAPTABLE GMC

Lateral Arm Bushing

Weight: 0,12

ACADIA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2017- Rear 84606181*

Length: 49,5

4WD / FWD

TC-CH-1288 Lateral Arm Rear 84606181

RODRUNNER REF NO: TC-CY-118 ADAPTABLE CHERY

Lateral Arm

Weight: 1,778

OMODA 5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Rear Right 202000813AA

Length: 294,5

www.rodrunnerparts.com 13



January 2025

RODRUNNER REF NO: TC-CY-118 ADAPTABLE CHERY

Lateral Arm

Weight: 1,778

TIGGO 7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Rear Right 202000813AA

Length: 294,5

RODRUNNER REF NO: TC-CY-118 ADAPTABLE CHERY

Lateral Arm

Weight: 1,778

TIGGO 8

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Rear Right 202000813AA

Length: 294,5

www.rodrunnerparts.com 14



January 2025

RODRUNNER REF NO: TC-CY-119 ADAPTABLE CHERY

Lateral Arm

Weight: 1,778

OMODA 5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Rear Left 202000812AA

Length: 294,5

RODRUNNER REF NO: TC-CY-119 ADAPTABLE CHERY

Lateral Arm

Weight: 1,778

TIGGO 7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Rear Left 202000812AA

Length: 294,5

www.rodrunnerparts.com 15



January 2025

RODRUNNER REF NO: TC-CY-119 ADAPTABLE CHERY

Lateral Arm

Weight: 1,778

TIGGO 8

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Rear Left 202000812AA

Length: 294,5

RODRUNNER REF NO: TC-CY-128 ADAPTABLE CHERY

Lateral Arm

Weight: 1,826

OMODA 5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Rear Right 202000490AA

Length: 294,5

www.rodrunnerparts.com 16



January 2025

RODRUNNER REF NO: TC-CY-128 ADAPTABLE CHERY

Lateral Arm

Weight: 1,826

TIGGO 7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Rear Right 202000490AA

Length: 294,5

RODRUNNER REF NO: TC-CY-128 ADAPTABLE CHERY

Lateral Arm

Weight: 1,826

TIGGO 8

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Rear Right 202000490AA

Length: 294,5

www.rodrunnerparts.com 17



January 2025

RODRUNNER REF NO: TC-CY-129 ADAPTABLE CHERY

Lateral Arm

Weight: 1,826

OMODA 5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Rear Left 202000489AA

Length: 294,5

RODRUNNER REF NO: TC-CY-129 ADAPTABLE CHERY

Lateral Arm

Weight: 1,826

TIGGO 7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Rear Left 202000489AA

Length: 294,5

www.rodrunnerparts.com 18



January 2025

RODRUNNER REF NO: TC-CY-129 ADAPTABLE CHERY

Lateral Arm

Weight: 1,826

TIGGO 8

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Rear Left 202000489AA

Length: 294,5

RODRUNNER REF NO: BJ-DO-644 ADAPTABLE DODGE

Ball Joint

Weight: 1,008

RAM 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2006-2010 Front 5086980AD

Length: 137,1 Bolt Metric: M20X1,5

www.rodrunnerparts.com 19



January 2025

RODRUNNER REF NO: BJ-DO-644 ADAPTABLE DODGE

Ball Joint

Weight: 1,008

RAM 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2002-2009 Front 5086980AD

Length: 137,1 Bolt Metric: M20X1,5

RODRUNNER REF NO: BJ-DO-644 ADAPTABLE DODGE

Ball Joint

Weight: 1,008

RAM 3500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2002-2009 Front 5086980AD

Length: 137,1 Bolt Metric: M20X1,5

www.rodrunnerparts.com 20



January 2025

RODRUNNER REF NO: BJ-FO-214 ADAPTABLE FORD

Ball Joint

Weight: 0,448

CROWN VICTORIA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

EN114 1998-2012 Front Upper K500042, 4W1Z3084AA,
4W1Z3085AA

Length: 105,5 Bolt Metric: M14X1,5

RODRUNNER REF NO: BJ-FO-214 ADAPTABLE MERCURY

Ball Joint

Weight: 0,448

GRAND MARQUIS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2003-2011 Front Upper K500042, 4W1Z3084AA,
4W1Z3085AA

Length: 105,5 Bolt Metric: M14X1,5

www.rodrunnerparts.com 21



January 2025

RODRUNNER REF NO: BJ-FO-214 ADAPTABLE MERCURY

Ball Joint

Weight: 0,448

MARAUDER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2003-2004 Front Upper K500042, 4W1Z3084AA,
4W1Z3085AA

Length: 105,5 Bolt Metric: M14X1,5

RODRUNNER REF NO: BJ-FO-254 ADAPTABLE FORD

Ball Joint

Weight: 0,256

FUSION

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen USA 2006-2012 Front Upper RK620635*, 7E5Z3084R*,
6E5Z3085C*, 6E5Z3084BA*

Length: 51 Bolt Metric: M12X1,25

www.rodrunnerparts.com 22



January 2025

RODRUNNER REF NO: BJ-FO-254 ADAPTABLE LINCOLN

Ball Joint

Weight: 0,256

MKZ

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2006-2012 Front Upper RK620635*, 7E5Z3084R*,
6E5Z3085C*, 6E5Z3084BA*

Length: 51 Bolt Metric: M12X1,25

RODRUNNER REF NO: BJ-FO-254 ADAPTABLE MAZDA

Ball Joint

Weight: 0,256

6

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GG 2002-2007 Front Upper RK620635*, 7E5Z3084R*,
6E5Z3085C*, 6E5Z3084BA*

Length: 51 Bolt Metric: M12X1,25

www.rodrunnerparts.com 23



January 2025

RODRUNNER REF NO: BJ-FO-254 ADAPTABLE MERCURY

Ball Joint

Weight: 0,256

MILAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2006-2011 Front Upper RK620635*, 7E5Z3084R*,
6E5Z3085C*, 6E5Z3084BA*

Length: 51 Bolt Metric: M12X1,25

www.rodrunnerparts.com 24



January 2025

RODRUNNER REF NO: BC-HO-BS215 ADAPTABLE HONDA

Control Arm Bushing

Weight: 0,232

HR-V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RV5 2022- Front Lower 51350T00T00*, 51360T00T00*

Length: 52

TC-H-118
Control Arm

and Ball Joint
Front Right

Lower
513503M0J00

TC-H-118S Control Arm
Front Right

Lower
513503M0J00*

TC-H-119
Control Arm

and Ball Joint
Front Left

Lower
513603M0J00

TC-H-119S Control Arm
Front Left

Lower
513603M0J00*

TC-H-1418
Control Arm

and Ball Joint
Front Right

Lower
51350T00T00

www.rodrunnerparts.com 25



January 2025

RODRUNNER REF NO: BC-HO-BS215 ADAPTABLE HONDA

Control Arm Bushing

Weight: 0,232

CITY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

7th Gen 2020- Front Lower 51350T00T00*, 51360T00T00*

Length: 52

TC-H-118
Control Arm

and Ball Joint
Front Right

Lower
513503M0J00

TC-H-118S Control Arm
Front Right

Lower
513503M0J00*

TC-H-119
Control Arm

and Ball Joint
Front Left

Lower
513603M0J00

TC-H-119S Control Arm
Front Left

Lower
513603M0J00*

TC-H-1418
Control Arm

and Ball Joint
Front Right

Lower
51350T00T00

www.rodrunnerparts.com 26



January 2025

RODRUNNER REF NO: BC-HO-BS216 ADAPTABLE HONDA

Lateral Arm Bushing

Weight: 0,212

CIVIC

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

FE/FL 2022- Rear Upper 52510T20A00*

Length: 47

TC-H-1398 Lateral Arm Rear Upper 52510T20A00

RODRUNNER REF NO: BC-HO-BS230 ADAPTABLE HONDA

Lateral Arm Bushing

Weight: 1,218

CIVIC

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

FE/FL 2022- Rear Lower 52360T20A10*, 52365T20A10*

Length: 174,3

TC-H-1408 Lateral Arm
Rear Right

Lower
52360T20A10

TC-H-1409 Lateral Arm
Rear Left

Lower
52365T20A10

www.rodrunnerparts.com 27



January 2025

RODRUNNER REF NO: BC-HO-BS230 ADAPTABLE HONDA

Lateral Arm Bushing

Weight: 1,218

CIVIC

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

FE/FL 2022- Rear Lower 52360T20A10*, 52365T20A10*

Length: 174,3

TC-H-1408 Lateral Arm
Rear Right

Lower
52360T20A10

TC-H-1409 Lateral Arm
Rear Left

Lower
52365T20A10

RODRUNNER REF NO: TC-HY-168 ADAPTABLE HYUNDAI

Control Arm and Ball Joint

Weight: 3,786

KONA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SX2 2023- Front Right
Lower

54501BE000

Length: 391 Bolt Metric: M12X1,25

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-HY-144 Ball Joint Front Lower 54530BE000

BC-HY-BS172

BC-HY-BS173

www.rodrunnerparts.com 28

Control Arm 
   Bushing

Front Lower 
    Outer

54501AA100* ,54500AA100* ,
54501BE000* ,54500BE000*

54501AA100* ,54500AA100* ,
54501BE000* ,54500BE000*

Front Lower 
    Outer

Control Arm 
   Bushing



January 2025

RODRUNNER REF NO: TC-HY-169 ADAPTABLE HYUNDAI

Control Arm and Ball Joint

Weight: 3,786

KONA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SX2 2023- Front Left
Lower

54500BE000

Length: 391 Bolt Metric: M12X1,25

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-HY-144 Ball Joint Front Lower 54530BE000

BC-HY-BS172

BC-HY-BS173

RODRUNNER REF NO: AJ-HY-173 ADAPTABLE HYUNDAI

Tie Rod

Weight: 0,544

GENESIS

MODEL NO BODY YEAR DIRECTION OEM NO

DH 2014- Front 1017835, 57724B1400

Length: 233 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

AWD

www.rodrunnerparts.com 29

Control Arm 
   Bushing

Control Arm 
   Bushing

Front Lower 
    Outer

Front Lower 
    Outer

54501AA100* ,54500AA100* ,
54501BE000* ,54500BE000*

54501AA100* ,54500AA100* ,
54501BE000* ,54500BE000*



January 2025

RODRUNNER REF NO: AJ-HY-193 ADAPTABLE HYUNDAI

Tie Rod

Weight: 0,598

GENESIS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

DH 2014- Front MS90742, 57724B1200

Length: 269 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

RODRUNNER REF NO: TC-HY-208 ADAPTABLE HYUNDAI

Lateral Arm

Weight: 0,824

ELANTRA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

CN7 2021- Rear Lower
Forward

55260F2BA0

Length: 328

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-HY-BS213
Lateral Arm

Bushing
Rear Lower

Forward
55260F2BA0*, 55250F2BA0*

www.rodrunnerparts.com 30



January 2025

RODRUNNER REF NO: TC-HY-208 ADAPTABLE HYUNDAI

Lateral Arm

Weight: 0,824

I30

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

PD 2017- Rear Lower
Forward

55260F2BA0

Length: 328

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-HY-BS213
Lateral Arm

Bushing
Rear Lower

Forward
55260F2BA0*, 55250F2BA0*

RODRUNNER REF NO: TC-HY-208 ADAPTABLE HYUNDAI

Lateral Arm

Weight: 0,824

IONIQ

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

AE 2017-2022 Rear Lower
Forward

55260F2BA0

Length: 328

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-HY-BS213
Lateral Arm

Bushing
Rear Lower

Forward
55260F2BA0*, 55250F2BA0*

www.rodrunnerparts.com 31



January 2025

RODRUNNER REF NO: TC-HY-208 ADAPTABLE HYUNDAI

Lateral Arm

Weight: 0,824

KONA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

OS 2018-2023 Rear Lower
Forward

55260F2BA0

Length: 328

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-HY-BS213
Lateral Arm

Bushing
Rear Lower

Forward
55260F2BA0*, 55250F2BA0*

RODRUNNER REF NO: TC-HY-208 ADAPTABLE KIA

Lateral Arm

Weight: 0,824

CEED

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

CD 2018- Rear Lower
Forward

55260F2BA0

Length: 328

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-HY-BS213
Lateral Arm

Bushing
Rear Lower

Forward
55260F2BA0*, 55250F2BA0*

www.rodrunnerparts.com 32



January 2025

RODRUNNER REF NO: TC-HY-208 ADAPTABLE KIA

Lateral Arm

Weight: 0,824

SOUL

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SK3 2020- Rear Lower
Forward

55260F2BA0

Length: 328

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-HY-BS213
Lateral Arm

Bushing
Rear Lower

Forward
55260F2BA0*, 55250F2BA0*

RODRUNNER REF NO: BC-HY-BS213 ADAPTABLE HYUNDAI

Lateral Arm Bushing

Weight: 0,148

ELANTRA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

CN7 2021- Rear Lower
Forward

55260F2BA0*, 55250F2BA0*

Length: 45,1

TC-HY-208 Lateral Arm
Rear Lower

Forward
55260F2BA0

www.rodrunnerparts.com 33



January 2025

RODRUNNER REF NO: BC-HY-BS213 ADAPTABLE HYUNDAI

Lateral Arm Bushing

Weight: 0,148

I30

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

PD 2017- Rear Lower
Forward

55260F2BA0*, 55250F2BA0*

Length: 45,1

TC-HY-208 Lateral Arm
Rear Lower

Forward
55260F2BA0

RODRUNNER REF NO: BC-HY-BS213 ADAPTABLE HYUNDAI

Lateral Arm Bushing

Weight: 0,148

IONIQ

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

AE 2017-2022 Rear Lower
Forward

55260F2BA0*, 55250F2BA0*

Length: 45,1

TC-HY-208 Lateral Arm
Rear Lower

Forward
55260F2BA0

www.rodrunnerparts.com 34



January 2025

RODRUNNER REF NO: BC-HY-BS213 ADAPTABLE HYUNDAI

Lateral Arm Bushing

Weight: 0,148

KONA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

OS 2018-2023 Rear Lower
Forward

55260F2BA0*, 55250F2BA0*

Length: 45,1

TC-HY-208 Lateral Arm
Rear Lower

Forward
55260F2BA0

RODRUNNER REF NO: BC-HY-BS213 ADAPTABLE KIA

Lateral Arm Bushing

Weight: 0,148

CEED

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

CD 2018- Rear Lower
Forward

55260F2BA0*, 55250F2BA0*

Length: 45,1

TC-HY-208 Lateral Arm
Rear Lower

Forward
55260F2BA0

www.rodrunnerparts.com 35



January 2025

RODRUNNER REF NO: BC-HY-BS213 ADAPTABLE KIA

Lateral Arm Bushing

Weight: 0,148

SOUL

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SK3 2020- Rear Lower
Forward

55260F2BA0*, 55250F2BA0*

Length: 45,1

TC-HY-208 Lateral Arm
Rear Lower

Forward
55260F2BA0

RODRUNNER REF NO: LS-KI-646 ADAPTABLE KIA

Stabilizer Bar Link

Weight: 0,398

SELTOS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2021- Rear Right 55531Q5000

Length: 109 Bolt Metric: M12X1,25

www.rodrunnerparts.com 36



January 2025

RODRUNNER REF NO: LS-KI-647 ADAPTABLE KIA

Stabilizer Bar Link

Weight: 0,398

SELTOS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2021- Rear Left 55530Q5000

Length: 109 Bolt Metric: M12X1,25

RODRUNNER REF NO: TC-LA-468 ADAPTABLE LAND ROVER

Control Arm and Ball Joint

Weight: 1,666

RANGE ROVER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L460 2022- Front Right
Upper

LR152746

Length: 256 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-LR-BS085
Control Arm

Bushing
Front Upper LR152746*, LR152748*

www.rodrunnerparts.com 37



January 2025

RODRUNNER REF NO: TC-LA-468 ADAPTABLE LAND ROVER

Control Arm and Ball Joint

Weight: 1,666

RANGE ROVER SPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L461 2022- Front Right
Upper

LR152746

Length: 256 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-LR-BS085
Control Arm

Bushing
Front Upper LR152746*, LR152748*

RODRUNNER REF NO: TC-LA-469 ADAPTABLE LAND ROVER

Control Arm and Ball Joint

Weight: 1,666

RANGE ROVER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L460 2022- Front Left
Upper

LR152748

Length: 256 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-LR-BS085
Control Arm

Bushing
Front Upper LR152746*, LR152748*

www.rodrunnerparts.com 38



January 2025

RODRUNNER REF NO: TC-LA-469 ADAPTABLE LAND ROVER

Control Arm and Ball Joint

Weight: 1,666

RANGE ROVER SPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L461 2022- Front Left
Upper

LR152748

Length: 256 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-LR-BS085
Control Arm

Bushing
Front Upper LR152746*, LR152748*

RODRUNNER REF NO: BC-LR-BS085 ADAPTABLE LAND ROVER

Control Arm Bushing

Weight: 0,12

RANGE ROVER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L460 2022- Front Upper LR152746*, LR152748*

Length: 52,8

TC-LA-468
Control Arm

and Ball Joint
Front Right

Upper
LR152746

TC-LA-469
Control Arm

and Ball Joint
Front Left

Upper
LR152748

www.rodrunnerparts.com 39



January 2025

RODRUNNER REF NO: BC-LR-BS085 ADAPTABLE LAND ROVER

Control Arm Bushing

Weight: 0,12

RANGE ROVER SPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L461 2022- Front Upper LR152746*, LR152748*

Length: 52,8

TC-LA-468
Control Arm

and Ball Joint
Front Right

Upper
LR152746

TC-LA-469
Control Arm

and Ball Joint
Front Left

Upper
LR152748

RODRUNNER REF NO: LS-MA-156 ADAPTABLE MAZDA

Stabilizer Bar Link

Weight: 0,192

6

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GG 2002-2007 Rear K750007, GJ6A28170B

Length: 78 Bolt Metric: M10X1,25

www.rodrunnerparts.com 40



January 2025

RODRUNNER REF NO: BC-ME-BS344 ADAPTABLE MERCEDES

Stabilizer Bar Link Bushing

Weight: 0,37

SPRINTER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

B907/B910 2019- Rear A9103261200*, 9103261200*

Length: 26

TC-M-1056

LS-M-708

LS-M-720

LS-M-730

LS-M-1036

www.rodrunnerparts.com 41

Lateral Arm Rear Forward A9073204101

Stabilizer Bar 
      Link

Rear 2D0511329,9013200089
5104058AA,A9013200089

Stabilizer Bar 
      Link

Rear 9013200589,5118696AA
       2D0511329A

Stabilizer Bar 
      Link Rear 2E0511051F,9063201389

A9063201389,68013817AA

Stabilizer Bar 
      Link Rear A9103261200



January 2025

RODRUNNER REF NO: BC-ME-BS344 ADAPTABLE MERCEDES

Stabilizer Bar Link Bushing

Weight: 0,37

SPRINTER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W901/W902/W
903

1995-2006 Rear A9103261200*, 9103261200*

Length: 26

TC-M-1056

LS-M-708

LS-M-720

LS-M-730

LS-M-1036

www.rodrunnerparts.com 42

satis18
Mühür



January 2025

RODRUNNER REF NO: BC-ME-BS344 ADAPTABLE VOLKSWAGEN

Stabilizer Bar Link Bushing

Weight: 0,37

LT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

Typ 2D 1996-2006 Rear A9103261200*, 9103261200*

Length: 26

TC-M-1056

LS-M-708

LS-M-720

LS-M-730

LS-M-1036

www.rodrunnerparts.com 43

satis18
Mühür



January 2025

RODRUNNER REF NO: BC-ME-BS344 ADAPTABLE DODGE

Stabilizer Bar Link Bushing

Weight: 0,37

SPRINTER 3500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W901/W902/W
903

1995-2006 Rear A9103261200*, 9103261200*

Length: 26

TC-M-1056

LS-M-708

LS-M-720

LS-M-730

LS-M-1036

www.rodrunnerparts.com 44

satis18
Mühür



January 2025

RODRUNNER REF NO: BC-ME-BS344 ADAPTABLE DODGE

Stabilizer Bar Link Bushing

Weight: 0,37

SPRINTER 3500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W901/W902/W
903

1995-2006 Rear A9103261200*, 9103261200*

Length: 26

TC-M-1056

LS-M-708

LS-M-720

LS-M-730

LS-M-1036

www.rodrunnerparts.com 45

satis18
Mühür



January 2025

RODRUNNER REF NO: BC-ME-BS344 ADAPTABLE MERCEDES

Stabilizer Bar Link Bushing

Weight: 0,37

SPRINTER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W901/W902/W
903

1995-2006 Rear A9103261200*, 9103261200*

Length: 26

TC-M-1056

LS-M-708

LS-M-720

LS-M-730

LS-M-1036

www.rodrunnerparts.com 46

satis18
Mühür



January 2025

RODRUNNER REF NO: BC-ME-BS344 ADAPTABLE VOLKSWAGEN

Stabilizer Bar Link Bushing

Weight: 0,37

CRAFTER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

Typ 2E/2F 2006-2017 Rear A9103261200*, 9103261200*

Length: 26

TC-M-1056

LS-M-708

LS-M-720

LS-M-730

LS-M-1036

www.rodrunnerparts.com 47

satis18
Mühür



January 2025

RODRUNNER REF NO: BC-ME-BS346 ADAPTABLE CHRYSLER

Lateral Arm Bushing

Weight: 0,76

300

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2005-2010 Rear Lower
Forward

2063501700*, RK641772,
4782836AA, 4782836AB

Length: 37,8

TC-CR-518

RODRUNNER REF NO: BC-ME-BS346 ADAPTABLE DODGE

Lateral Arm Bushing

Weight: 0,76

CHALLENGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2008- Rear Lower
Forward

2063501700*, RK641772,
4782836AA, 4782836AB

Length: 37,8

TC-CR-518

www.rodrunnerparts.com 48

Lateral Arm

Lateral Arm Rear Lower 
   Forward

Rear Lower 
   Forward

RK641772,4782836AA,
4782836AB,4782836AB

RK641772,4782836AA,
4782836AB,4782836AB



January 2025

RODRUNNER REF NO: BC-ME-BS346 ADAPTABLE DODGE

Lateral Arm Bushing

Weight: 0,76

CHARGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

6th Gen 2006-2010 Rear Lower
Forward

2063501700*, RK641772,
4782836AA, 4782836AB

Length: 37,8

TC-CR-518

RODRUNNER REF NO: BC-ME-BS346 ADAPTABLE DODGE

Lateral Arm Bushing

Weight: 0,76

CHARGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

7th Gen 2011- Rear Lower
Forward

2063501700*, RK641772,
4782836AA, 4782836AB

Length: 37,8

TC-CR-518

www.rodrunnerparts.com 49

Lateral Arm

RK641772,4782836AA,
4782836AB,4782836AB

Rear Lower 
  ForwardLateral Arm

Rear Lower 
   Forward

RK641772,4782836AA,
4782836AB,4782836AB



January 2025

RODRUNNER REF NO: BC-ME-BS346 ADAPTABLE DODGE

Lateral Arm Bushing

Weight: 0,76

MAGNUM

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2004-2009 Rear Lower
Forward

2063501700*, RK641772,
4782836AA, 4782836AB

Length: 37,8

TC-CR-518

RODRUNNER REF NO: BC-ME-BS346 ADAPTABLE CHRYSLER

Lateral Arm Bushing

Weight: 0,76

300

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2011-2023 Rear Lower
Forward

2063501700*, RK641772,
4782836AA, 4782836AB

Length: 37,8

TC-CR-518

www.rodrunnerparts.com 50

Lateral Arm Rear Lower 
  Forward

RK641772,4782836AA,
4782836AB,4782836AB

Lateral Arm Rear Lower 
  Forward

RK641772,4782836AA,
4782836AB,4782836AB



January 2025

RODRUNNER REF NO: LS-MG-116 ADAPTABLE MG

Stabilizer Bar Link

Weight: 0,348

HS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2019- Front 10523751

Length: 250 Bolt Metric: M12X1,5

RODRUNNER REF NO: BC-MI-BS137 ADAPTABLE MITSUBISHI

Control Arm Bushing

Weight: 0,328

ASX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GA 2011- Front Lower 4013A544*, 4013A543*

Length: 54

TC-MI-738 Control Arm
Front Right

Lower
4013A444, 1612753580

TC-MI-739 Control Arm
Front Left

Lower
4013A443, 1612753380

www.rodrunnerparts.com 51



January 2025

RODRUNNER REF NO: BC-MI-BS137 ADAPTABLE MITSUBISHI

Control Arm Bushing

Weight: 0,328

LANCER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

9th Gen 2008-2017 Front Lower 4013A544*, 4013A543*

Length: 54

TC-MI-738 Control Arm
Front Right

Lower
4013A444, 1612753580

TC-MI-739 Control Arm
Front Left

Lower
4013A443, 1612753380

RODRUNNER REF NO: BC-MI-BS137 ADAPTABLE MITSUBISHI

Control Arm Bushing

Weight: 0,328

LANCER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

9th Gen 2008-2017 Front Lower 4013A544*, 4013A543*

Length: 54

YEAR ONLY
2013-

TC-MI-738 Control Arm
Front Right

Lower
4013A444, 1612753580

TC-MI-739 Control Arm
Front Left

Lower
4013A443, 1612753380

www.rodrunnerparts.com 52



January 2025

RODRUNNER REF NO: LS-R-1016A ADAPTABLE RENAULT

Stabilizer Bar Link

Weight: 0,494

AUSTRAL

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RHN 2022- Front Right 546184246R

Length: 300 Bolt Metric: M12X1,25

RODRUNNER REF NO: LS-R-1017A ADAPTABLE RENAULT

Stabilizer Bar Link

Weight: 0,494

AUSTRAL

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RHN 2022- Front Left 546683483R

Length: 300 Bolt Metric: M12X1,25

www.rodrunnerparts.com 53



January 2025

RODRUNNER REF NO: TC-TS-328 ADAPTABLE TESLA

Control Arm and Ball Joint

Weight: 1,72

MODEL S

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Front Right
Lower

142034600C

Length: 411 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-TS-BS030
Control Arm

Bushing
Front Lower 142034600C, 142034100C

RODRUNNER REF NO: TC-TS-328K ADAPTABLE TESLA

Control Arm and Ball Joint

Weight: 1,97

MODEL S

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Front Right
Lower

142034600C*

Length: 411 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-TS-BS030
Control Arm

Bushing
Front Lower 142034600C, 142034100C

www.rodrunnerparts.com 54



January 2025

RODRUNNER REF NO: TC-TS-329 ADAPTABLE TESLA

Control Arm and Ball Joint

Weight: 1,72

MODEL S

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Front Left
Lower

142034100C

Length: 411 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-TS-BS030
Control Arm

Bushing
Front Lower 142034600C, 142034100C

RODRUNNER REF NO: TC-TS-329K ADAPTABLE TESLA

Control Arm and Ball Joint

Weight: 1,97

MODEL S

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Front Left
Lower

142034100C*

Length: 411 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-TS-BS030
Control Arm

Bushing
Front Lower 142034600C, 142034100C

www.rodrunnerparts.com 55



January 2025

RODRUNNER REF NO: BC-TS-BS030 ADAPTABLE TESLA

Control Arm Bushing

Weight: 0,334

MODEL S

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Front Lower 142034600C, 142034100C

Length: 80

TC-TS-328
Control Arm

and Ball Joint
Front Right

Lower
142034600C

TC-TS-328K
Control Arm

and Ball Joint
Front Right

Lower
142034600C*

TS-329 Lateral Arm
Front Left

Lower
142034100C

TC-TS-329
Control Arm

and Ball Joint
Front Left

Lower
142034100C

www.rodrunnerparts.com 56

satis18
Mühür

satis18
Altı çizili

satis18
Mühür



January 2025

RODRUNNER REF NO: BC-TS-BS032 ADAPTABLE TESLA

Lateral Arm Bushing

Weight: 0,284

MODEL S

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Rear Upper 142042299G, 142042200G,
142042199G, 142042100G

Length: 112

TC-TS-278 Lateral Arm
Rear Right

Upper
142042299G, 142042200G

KT-TS-278K Lateral Arm Kit
Rear Right

Upper
142042299G, 142042200G

TC-TS-279 Lateral Arm
Rear Left

Upper
142042199G, 142042100G

KT-TS-279K Lateral Arm Kit
Rear Left

Upper
142042199G, 142042100G

TC-TS-318 Lateral Arm Rear Lower 142043599G

www.rodrunnerparts.com 57



January 2025

RODRUNNER REF NO: BC-TS-BS032 ADAPTABLE TESLA

Lateral Arm Bushing

Weight: 0,284

MODEL X

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2015- Rear Upper 142042299G, 142042200G,
142042199G, 142042100G

Length: 112

YEAR ONLY
2021-

TC-TS-278 Lateral Arm
Rear Right

Upper
142042299G, 142042200G

KT-TS-278K Lateral Arm Kit
Rear Right

Upper
142042299G, 142042200G

TC-TS-279 Lateral Arm
Rear Left

Upper
142042199G, 142042100G

KT-TS-279K Lateral Arm Kit
Rear Left

Upper
142042199G, 142042100G

TC-TS-318 Lateral Arm Rear Lower 142043599G

www.rodrunnerparts.com 58



January 2025

RODRUNNER REF NO: BC-TS-BS033 ADAPTABLE TESLA

Lateral Arm Bushing

Weight: 0,28

MODEL S

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Rear Lower
Forward

142043599G*

Length: 112

TC-TS-288 Lateral Arm
Rear Lower

Forward
142044100F, 142044100G

KT-TS-288K Lateral Arm Kit
Rear Lower

Forward
142044100F, 142044100G

RODRUNNER REF NO: BC-TS-BS033 ADAPTABLE TESLA

Lateral Arm Bushing

Weight: 0,28

MODEL X

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2015- Rear Lower
Forward

142043599G*

Length: 112

YEAR ONLY
2021-

TC-TS-288 Lateral Arm
Rear Lower

Forward
142044100F, 142044100G

KT-TS-288K Lateral Arm Kit
Rear Lower

Forward
142044100F, 142044100G

www.rodrunnerparts.com 59



January 2025

RODRUNNER REF NO: TC-V-1068 ADAPTABLE VOLKSWAGEN

Lateral Arm

Weight: 0,71

ID.3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

E11 2020- Rear Forward 1EA501529B

Length: 257,2

RODRUNNER REF NO: TC-V-1068 ADAPTABLE VOLKSWAGEN

Lateral Arm

Weight: 0,71

ID.4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

E21 2021- Rear Forward 1EA501529B

Length: 257,2

www.rodrunnerparts.com 60


